
Issue 1 - 23/12/01

Upholstered Bed

Friendly Customer Service
Satisfaction Guarantees: Any problems with assembly,
quality, or return, please feel free to contact us directly.

Contact us
Phone: +1 (901) 347-2181  (US) Mon-Fri 9am - 5pm (PST)
E-Mail: cs@howedirect.com (Get efficient feedback within 12 hours)



1/11



2/11

1

10

2

3

4

4

3

5-2

5-2
5-1

5-1

6
7

8

9

9

10

11
13

12

14

14

15

15

16

16

17

18

20
1

6

19

19



3/11

PARTS LIST

1 2

4 5-1

8

11 14

15 17 1816

7

12 13

3

6

A B C D E F

2pcs 1pc

2pcs 2pcs

1pc

1pc 2pcs

2pcs 1pc 1pc2pcs

2pcs 1pc

1pc

1pc

2pcs

2pcs

 M8x40

14pcs

 M8x30

12pcs

 M8x15

28pcs

 M6x25

6pcs

 M8x50

4pcs 1pc

M5 allen key

9

2pcs

5-2

2pcs

20

1pc

10

19

2pcs



4/11

2

1

 M8 x 30mm                          X12pcs

C

 M8 x 40mm                           X8pcs

B

B

1

6

6

B

6

B

B

B

1

1

20

E

E

E

1
20

 M6 x 25mm                           X4pcs

E

C

5-1

4

3C

3

4 C

5-2

5-2

5-1

44
in

 -
 4

6i
n 

- 
48

in

×

Note that the hole on the end
is pointing in this direction,
while the velcro is facing up.



5/11

3

 M8 x 15mm                           X8pcs

D

1312

D

4 12

D

3

13

D

12

4

5-1

5-1
3

13

D

17 18

17

3

4
18

D

18

4

3

D

17

5-2

5-2



 M8 x 15mm                           X8pcs

D

3

4

4

3

D

15

15
D

D

16

16

16

17

17

16

6/11

4

5

17

18

D

18
18



 M8 x 15mm                            X4pcs

D

 M8 x 15mm                            X4pcs

D

4

3

D

D

D

D

2

DD

7/11

6

7



8/11

9

WARNING!
Moving parts can crush or cut.

 x2

Keep fingers, hands, and feet away to avoid injury.

 M8 x 40mm                            X4pcs

B

 x2

9

9

B

14

10

8



 M8 x 40mm                            X2pcs

B

A

 M8 x 50mm                            X2pcs

9/11

10

11

 M8 x 15mm                             X4pcs

D

B

11

B

A

14 10

11
14

A

10

B

B
11

15

A

11

1014

D

2
10

D
2

10

D

10

19

19

19



 M6 x 25mm                            X2pcs

E

A

 M8 x 50mm                            X2pcs

10/11

12

E

A

A

E

7

8

E

7

E

7

A

7



Installation Complete

11/11


	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12

